

1400 University Drive East - College Station, TX 77840 Phone (979)848-9727 Fax (979)268-1017 www.MicroAgeCS.com

## **Quotation**

Quote #	Date
130538	02/15/11
Sales	Rep
Steve	Catlin
979-846-972	27 Ext. 280
catlin@micr	nadecs com

For	Phones		
Chris Speier College Station ISD 1812 Welsh Street	(979) 694-5676		
College Station, TX 77840 United States	PO# Terms	Ship Date	Ship Via
Officer States	Net 30 days	2/20/2011	

	Part	Description	Qty	Price	Ext. Price
1	COMTAMU2	Master Agreement M900327	1	\$0.00	\$0.00
2		Smart SPP S202450YYC			
3					
4	NP-U310W	NEC NP-U310w WXGA, DLP, 3100 Lumen Short Throw Projector w/10W speaker, CC and RJ-45, 14.3 pounds, w/Free VUKUNET CMS	45	\$1,145.00	\$51,525.00
5					
6		Classroom AV	50	\$5,115.40	\$255,770.00
7	SB685EDU	SMART Board 685, 87" Interactive Whiteboard - CSISD	1	\$1,599.00	\$1,599.00
8	WM120AUS	Chief Wall-Mount WM120S WITH RSMAUS KIT	1	\$259.00	\$259.00
9	HAWM-UX/UF	SMART Height-adjustable Wall Mount for UX/UF projector systems	1	\$799.00	\$799.00
10	CAT5-XT	SMART Cat 5 to USB Extender (up to 120', CAT5 cable not included)	1	\$99.00	\$99.00
11	820-VRM	LightSpeed 820 system with REDMIKE VC, REDMIKE, (1) MCQ multimedia ceiling speaker	1	\$1,179.00	\$1,179.00
12	60-955-03	Extron Two Output VGA and Audio Distribution Amplifier - Decora® Wallplate	1	\$285.00	\$285.00
13	42138	CTG 35ft RapidRun® CL2-Rated PC Runner Cable	1	\$45.00	\$45.00
14	42071	CTG 1.5ft RapidRun® RCA Component Video + Stereo Audio Flying Lead	1	\$15.00	\$15.00
15	42103	CTG 3ft RapidRun® HD15 Male Flying Lead	1	\$12.00	\$12.00
16	03728	CTG Decorative Double Gang Wall Plate - White	1	\$2.00	\$2.00
17	03721	CTG Decorative 2-Port Multimedia Keystone Insert - White	1	\$1.00	\$1.00
18	03677	CTG RJ45 (8P8C) Coupler Keystone Insert Module - White	1	\$3.00	\$3.00
19	03820	СТG Sпар-In Blank Keystone Insert Module - White	1	\$0.40	\$0.40
20	52113	CTG 15ft HD15 UXGA + 3.5mm Stereo Audio M/M Cable	1	\$22.00	\$22.00
21	28013	CTG 15ft Pro Series HD15 UXGA M/M Monitor Cable	1	\$18.00	\$18.00
22	15208		1	\$3.00	\$3.00

	Part	Description	Qty	Price	Ext. Price
L		CTG 14ft Cat5E 350 MHz Snagless Patch Cable - Black	······································		
23	70-581-22	(2) Extron MR 200D Two-Gang, Decora	2	\$15.00	\$30.00
24	PC-G2900-E-P-W	DG FP w/1 1/2-IN GROMMET	1	\$22.00	\$22.00
25	18-2C-WHT	(35) LWC 18/2C (LVP for DA)	35	\$0.20	\$7.00
26	TECHFLEX1.5	(15) TechFlex 1.5" to 2.5" braided sleeving	15	\$2.00	\$30.00
27	SUPER7	Tripp Lite 7 outlet, 7-ft cord, 2160 joule strip - Protect It! Surge Suppressor	1	\$15.00	\$15.00
28	SER10007	(4) A/V Technician	4	\$65.00	\$260.00
29	SER10007	(5) A/V Technician	5	\$65.00	\$325.00
30			1	\$0.00	\$0.00
31	SER10009	Lead A/V Designer	1	\$85.00	\$85.00
32					
33		Lobby Display	1	\$2,208.00	\$2,208.00
34	E461	NEC E461 - 46 LCD Public Display Monitor w/built in ATSC tuner, 1920x1080 (FHD) native resolution, Full AV function, Built in speakers, Tabletop stand included, 2 Year Warranty, w/Free VUKUNET CMS	1	\$899.00	\$899.00
35	PNR2045B	Chief Flat Panel Dual Swing Arm Wall Mount (42-71" Displays)	1	\$525.00	\$525.00
36	PAC251	Chief CPU/DVD/VCR Universal Mounting Adapter	1	\$175.00	\$175.00
37	PAC116	Chief Steel Stud/Drywall Anchor Kit - 6pc	1	\$30.00	\$30.00
38	PAC124B	Chief Flat Panel Swing Arm 24" Stud Adapter Kit, Black	1	\$129.00	\$129.00
39	SER10008	(3) Lead A/V Installer	3	\$85.00	\$255.00
40	SER10007	(3) A/V Technician	3	\$65.00	\$195.00
41					•
42		Cafeteria AV	1	\$27,473.10	\$27,473.10
43	PTDW6300US	PT-DW6300US DLP PROJ WXGA 16:10 2000:1 6000 LUMENS RGB 35.3LBS	1	\$5,500.00	\$5,500.00
44	RPMA6500	Chief RPA Elite Custom Projector Mount with Keyed Locking	1	\$175.00	\$175.00
45	CMS440	Chief Speed-Connect Above Tile Suspended Ceiling Kit	1	\$90.00	\$90.00
46	CMA470	Chief Above-Tile Plenum Enclosure	1	\$80.00	\$80.00
47	CMS006	Chief 6" (152 mm) Speed-Connect Fixed Extension Column	1	\$15.00	\$15.00
48	PACPC1	Chief Power Filter Kit	1	\$125.00	\$125.00
49	34524L	Da-Lite Advantage Electrol 87" x139" 16:10 LVC Projection Screen	1	\$2,000.00	\$2,000.00
50	MPS-250	Multimedia Presentation System 250 - 2 video, 3 RGB, 1 QM, 5 program audio, & 2 mic inputs; 1 video/RGB output; 1 QM/CH touchpanel output; discrete program, speech, & record audio outputs; stereo amplifier; digital audio processor; 4-channel mic mixer; 6x5 video matrix; 2-Series control system	1	\$4,760.00	\$4,760.00
51	QM-RX	QuickMedia Receiver	1	\$1,105.00	\$1,105.00
52	QM-WMC-VCC-W-T	QuickMedia® Wall Plate Media Center, White, Textured	1	\$935.00	\$935.00
53	XLS1500		1	\$400.00	\$400.00

Page 2 / 5

	Part	Description	Qty	Price	Ext. Price
IL		Crown XLS1500 DriveCore *NEW*	<u> </u>	1 1100	
54	EFX8	Soundcraft ESX8 8+2 Mixer	1	\$375.00	\$375.00
55	C29AV-WH-1	(2) JBL Control 29-AV High Output Speakers	2	\$350.00	\$700.00
56	BLU-100	Soundweb London 12 analog mic/line input, 8 analog output, networked signal processor with fault-tolerant bus	1	\$1,800.00	\$1,800.00
57	WMS450 Presenter	AKG Frequency-agile UHF wireless system with AKG C407L omni lavalier microphone. Includes PT450 transmitter, SR450 receiver, C407L mic, rack mount hardware, antennas, battery and power supply in carrying case. Master carton = 5 systems.	1	\$360.00	\$360.00
58	WMS450 C5 Vocal Set	AKG Frequency-agile UHF wireless system with AKG C5 condenser microphone. Includes HT450/C5 transmitter, SR450 receiver, rack mount hardware, stand adapter, antennas, battery and power supply in carrying case. Master carton = 5 systems.	1	\$360.00	\$360.00
59	CGN99 H/L	(4) AKG Condenser Gooseneck /Hypercardioid /50cm	4	\$125.00	\$500.00
60	KM210/21 Black	(4) AKG Extra-tall black tripod with extra-long boom. Height-adjustable from 43.3 - 79.5 inches	4	\$110.00	\$440.00
61	55218 CHB HD	Compact Presenation Lectern w/o Module	1	\$1,350.00	\$1,350.00
62	14-2C-WHT	(200) HOMETRAX 14/2 CL3 WHITE Speaker Wire	200	\$0.30	\$60.00
63	DWR-12-22	Middle Atlantic 12 SPACE (21") SECTIONAL WALL RACK, FITS 20" DEEP EQUIP., BLACK FINISH	1	\$450.00	\$450.00
64	DWR-RR12	Middle Atlantic 12 SPACE (21") DWR REAR RAIL KIT	1	\$35.00	\$35.00
65	LBP-1A	Middle Atlantic "L" SHAPED LACING BAR, 10 PC. PACK	1	\$30.00	\$30,00
66	PD-915RV-RN	Middle Atlantic 9 OUTLET, SINGLE 15 AMP CIRCUIT, SURGE/SPIKE PROTECTED RACKMOUNT POWER DISTRIBUTION WITH 2 STAGE SURGE SUPPRESSION AND NOTIFICATION	1	\$150.00	\$150.00
67	PFD-12	Middle Atlantic PLEXI FRONT DOOR, FITS 12 SPACE DWR SERIES RACKS, BLACK FINISH	1	\$199.00	\$199.00
68	VTF1	(6) Middle Atlantic 1 SPACE (1 3/4") VENT PANEL, 25% OPEN AREA	6	\$12.00	\$72.00
69	CRESCAT-QM-NP	(1000) QuickMedia® Cable, Low-skew CAT5e & Cresnet, non-plenum, 500 ft spool	1000	\$0.45	\$450.00
70	70-581-22	(2) Extron MR 200D Two-Gang, Decora	2	\$15.00	\$30.00
71	CA-NL2FC	(2) Neutrik Speakon 2 pole cable mt (f)	2	\$3.50	\$7.00
72	C-XLM/XLF-50	(4) XLR (M) to XLR (F) Mic or Line Level Audio Cable - 50'	4	\$39.00	\$156.00
73	C-XLM/XLF-6	(2) XLR (M) to XLR (F) Cable - 6'	2	\$13.00	\$26.00
74	RM0804FBX-100	ProCo 8 SEND 4 RET FAN/BOX 100FT	1	\$615.00	\$615.00
75	100 011LW	CATMASTER CAT6 PLUG 30-PK	1	\$45.00	\$45.00
76	14-2C-GRY	(250) COMMERCIAL 14/2 CL3R GRAY	250	\$0.30	\$75.00
77	22-1P-EZ-WHT	(300) QWIKSTRIP 22/1P AUDIO CM WHITE	300	\$0.18	\$54.00
78	C-5RVAM/5RVAM-12	5 RCA (M) - 5 RCA (M) Cable (3 RG-59 for Component Video) - 12'	1	\$28.00	\$28.00
79	C-BM/BM-3	1 BNC (M) to 1 BNC (M) RG-6 Video Cable - 3'	1	\$12.00	\$12.00
80	C-GM/GM-3	15-Pin HD (M) to 15-Pin (M) Cable - 3'	1	\$15.00	\$15.00
81	C-GMA/GMA-15	15-Pin (M) to 15-Pin (M) + 3.5mm Stereo Cable - 15'	1	\$35.00	\$35.00
82	C-SM/SM-3		1	\$5.00	\$5.00
					***************************************

03/04/11

Quote# 130538

	Part	Description	Qty	Price	Ext. Price
		4-Pin (M) to 4-Pin (M) s-Video Cable - 3'			
83	C-SMA/SMA-15	S-Video (M) + Dual RCA (M) Audio, Molded - 15'	1	\$25.00	\$25.00
84	02711	6FT DB9 M/F EXTENSION CABLE - BEIGE	1	\$4.00	\$4.00
85	03044	NULL MODEM CABLE - DB-9 (F) - DB-9 (F) - 6 FT	1	\$4.00	\$4.00
86	CA-NC3FX	(6) Neutrik 3-pin female XLR cable mount solder	6	\$3.10	\$18.60
87	CA-NC3MX	(10) Neutrik 3-pin male XLR cable mount solder	10	\$2.25	\$22.50
88	SER10009	(8) Lead A/V Designer	8	\$85.00	\$680.00
89	SER10008	(12) Lead A/V Installer	12	\$85.00	\$1,020.00
90	SER10007	(16) A/V Technician	16	\$65.00	\$1,040.00
91	SER10007	(16) A/V Technician	16	\$65,00	\$1,040.00
92					
93		Gym Audio	1	\$5,816.85	\$5,816.85
94	SP820A	Octasound SP820a 360° x 180° Speaker System	1	\$1,500.00	\$1,500.00
95	WMS450 C5 Vocal Set	(2) AKG Frequency-agile UHF wireless system with AKG C5 condenser microphone. Includes HT450/C5 transmitter, SR450 receiver, rack mount hardware, stand adapter, antennas, battery and power supply in carrying case. Master carton = 5 systems.	2	\$360.00	\$720.00
96	XLS1000	Crown XLS1000 DriveCore *NEW*	1	\$350.00	\$350.00
97	14M	Crown 14M	1	\$295.00	\$295.00
98	DWR-10-17	Middle Atlantic 10 SPACE (17 1/2") SECTIONAL WALL RACK, FITS 15" DEEP EQUIP., BLACK FINISH	1	\$425.00	\$425.00
99	DWR-RR10	Middle Atlantic 10 SPACE (17 1/2") DWR REAR RAIL KIT	1	\$30.00	\$30.00
100	LBP-1A	Middle Atlantic "L" SHAPED LACING BAR, 10 PC. PACK	1	\$30.00	\$30.00
101	PD-915RV-RN	Middle Atlantic 9 OUTLET, SINGLE 15 AMP CIRCUIT, SURGE/SPIKE PROTECTED RACKMOUNT POWER DISTRIBUTION WITH 2 STAGE SURGE SUPPRESSION AND NOTIFICATION	1	\$150.00	\$150.00
102	PFD-10	Middle Atlantic PLEXI FRONT DOOR, FITS 10 SPACE DWR SERIES RACKS, BLACK FINISH	1	\$189.00	\$189.00
103	VTF1	(6) Middle Atlantic 1 SPACE (1 3/4") VENT PANEL, 25% OPEN AREA	6	\$12.00	\$72.00
104	CA-NC3FX	(2) Neutrik 3-pin female XLR cable mount solder	2	\$3.10	\$6.20
105	CA-NC3MX	Neutrik 3-pin male XLR cable mount solder	1	\$2.25	\$2.25
106	CA-NL4FC	Neutrik 4 pole, cable mount speakon	1	\$5.00	\$5.00
107	14-2C-GRY	(300) COMMERCIAL 14/2 CL3R GRAY	300	\$0.30	\$90.00
108	22-1P-EZ-WHT	(530) QWIKSTRIP 22/1P AUDIO CM WHITE	530	\$0.18	\$95.40
109	MICR5-WQ219696	LWC Faceplate XLR F, 3.5mm for GP Elem Gym	1	\$40.00	\$40.00
110	C-A35M/A35M-10	3.5mm (M) to 3.5mm (M) Stereo Audio Cable - 10'	1	\$5.00	\$5.00
111	C-XLM/XLF-10	XLR (M) to XLR (F) Mic or Line Level Audio Cable - 10'	1	\$12.00	\$12.00
112	SER10008	(12) Lead A/V Installer	12	\$85.00	\$1,020.00
113	SER10007	(12) A/V Technician	12	\$65.00	\$780.00
114					

08:11:58 Page 4 / 5

MicroAge College Station

Quote# 130538

	Part	Description	Qty	Price	Ext. Pric
115 NP:	<b>20L</b> P	Replacement Lamp for U300X and U310W projectors	10	\$260.00	\$2,600.00
THE STREET STREET	era wasan anna anna anna anna anna anna an				
				SubTotal	\$345,392.9
				SubTotal ales Tax	\$345,392.9 \$0.0
			S		-

QUOTES ARE VALID FOR 30 DAYS FROM THE DATE SHOWN ABOVE. PRICES SUBJECT TO CHANGE - PRICES BASED UPON TOTAL PURCHASE - ALL DELIVERY, TRAINING OR CONSULTING SERVICES TO BE BILLED AT PUBLISHED RATES FOR EACH ACTIVITY INVOLVED - GENERALLY ALL HARDWARE COMPUTER COMPONENTS PROPOSED ABOVE ARE COVERED BY A LIMITED ONE TO THREE YEAR WARRANTY, COVERING PARTS AND LABOR ON A DEPOT BASIS - WE SPECIFICALLY DISCLAIM ANY AND ALL WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OR WITH REGARD TO ANY LICENSED PRODUCTS. WE SHALL NOT BE HELD LIABLE FOR ANY LOSS OF PROFITS, BUSINESS, GOODWILL, DATA, INTERRUPTION OF BUSINESS, INCIDENTIAL OR CONSEQUENTIAL MERCHANTABILITY OR FITNESS OF PURPOSE, OR DAMAGES RELATED TO THIS AGREEEMENT.

03/04/11 08:11:58 Page 5 / 5